KEMHEERIR OKERES)

ERFKE (TERK) SH2E48
® K % B % w7
K B B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
117K 8:39 10.3 1.5 0.4
2 (K 8:37 10.8 43 14 9.8 0.12 1.6 1.5 38.6
3| & 8:45 10.4 1.1 0.6
4|+
5(m@
6 (A 8:46 11.1 1.6 1.1
11X 8:40 10.0 39 51 9.2 <0.03 1.5 0.3 34.8
8 |k 8:40 10.0 1.4 0.3
9 (XK 8:38 11.4 1.8 0.6
10]&| 11:20 12.0 1.1 0.7
1|t
12| B
13| A 8:38 11.9 1.8 0.7
14| X 8:43 10.8 42 68 10 0.10 1.6 1.6 37.5
15| 7k 8:47 10.4 1.6 1.1
16| K 8:41 10.8 1.5 1.2
17| & 8:37 11.1 1.5 0.6
18| & 8:38 12.2 1.5 0.5
19| B
201 B 8:38 12.2 1.5 0.5
21| & 8:40 12.1 39 63 9.1 <0.03 1.4 0.8 35.0
22| K 8:41 12.2 1.5 0.6
23| K 8:39 11.6 1.4 0.8
24| & 8:49 11.8 1.6 1.1
25|+
26| B
271 B 8:37 12.7 .1 .
28| & 8:55 12.2 39 59 9.2 0.03 1.4 0.9 34.7
29| 7k
30| K 8:39 12.1 1.3 0.5
E OB — 11. 4 40 63 9.5 0.05 7.6 0.8 36. 1
B — 12.7 43 74 10 0.12 7.8 1.7 38.6
= & — 10.0 39 51 9.1 <0.03 7.3 0.3 34.7
i =




KEMHEERIR OKERES)

ERFKE (TERK) SH25E58
® K % B % w7
K B B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
11 8:41 14.1 1.1 2.8
2|+
3|
418
51k
6 [ K
71X 8:41 14.6 40 65 9.4 <0.03 1.8 0.6 35.1
8 |& 8:37 14.9 1.8 1.1
9|+
10| B
1A 8:39 14.2 1.5 0.5
12| X 8:41 13.6 38 60 9.2 <0.03 1.4 0.5 33.8
13| 7k 8:39 15.8 8.0 1.0
14| K 8:38 15.3 7.9 0.7
15| & 8:37 16.9 8.5 0.3
16| +
17| B
18| A 8:39 15.2 8.0 1.6
19| X 8:37 16.4 39 68 9.1 <0.03 8.3 1.5 35.5
20] /K 8:37 15.4 1.1 1.2
21| K 8:41 15.6 1.6 1.0
22| & 8:35 16.3 8.3 1.1
23|+
24| B
25| B 8:36 18.4 8.6 1.3
26| X 8:42 17.8 40 68 9.3 <0.03 8.6 1.5 36.0
271 K 8:37 18.3 8.7 1.7
28| K 8:37 19.0 8.5 1.3
29| & 8:37 17.8 8.0 1.4
30(+
31| @
E OB — 16. 1 39 65 9.3 <0.03 8.1 1.2 35.1
B — 19.0 40 68 9.4 <0.03 8.7 2.8 36.0
= & — 13.6 38 60 9.1 <0.03 1.4 0.3 33.8
i =




KEMHEERIR OKERES)

ERFKE (TERK) SH2E68
® K % B % w7
X OB B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
118 8:40 18.3 8.0 1.6
2 |k 8:37 19.2 39 12 9.3 <0.03 8.8 1.3 35.3
3|k 8:37 19.8 8.6 1.7
4 K 8:37 19.8 8.7 1.6
5% 8:50 18.8 8.0 1.5
6|t
718
8| A 8:38 20.5 8.7 1.5
9 [,k 8:35 20.7 39 69 9.2 <0.03 8.8 1.2 35.0
10| 7k 8:47 21.0 8.9 1.3
1| K 8:44 22.2 8.8 1.2
12| & 8:37 21.5 8.8 1.0
13| +
14| B
15| A 8:40 22.0 8.2 2.3
16| X 8:39 20.8 38 68 9.0 <0.03 8.6 1.1 35.1
17| 7k 8:37 22.8 8.3 1.6
18| K 8:43 22.0 8.6 1.1
19| & 8:39 21.7 8.1 1.4
20|+
21 B
221 B 8:45 21.9 8.6 1.4
23| & 8:42 22.2 41 13 8.9 0.03 8.5 1.9 37.2
241 K 8:39 22.3 8.6 1.2
25| K 8:37 22.6 8.7 1.1
26| & 8:41 22.17 8.6 1.0
27| +
28| A
291 B 8:41 23.9 8. 1.2
30| Xk 8:37 23.6 38 67 8.9 <0.03 8.6 0.9 36.0
E OB — 21.4 39 70 9.1 <0.03 8.5 1.4 35.7
B — 23.9 41 73 9.3 0.03 8.9 2.3 37.2
= & — 18.3 38 67 8.9 <0.03 8.0 0.9 35.0
i =




KEMHEERIR OKERES)

ERFKE (TERK) SH2ETR
® K % B % w7
X OB B OE p HiE A )::4
T maEY S R hURE
Al &% °Cc mg/L mg/L mg/L mg/L E mg/L
117K 8:55 23.4 8.6 1.0
2 (K 8:48 23.8 8.7 1.1
3| & 8:36 23.17 8.6 1.0
4|+
5(m@
6 (A 8:37 23.2 8.6 1.4
11X 8:38 23.4 39 10 8.6 <0.03 8.7 1.1 35.2
8 |k 8:M 23.3 8.5 2.5
9 (XK 8:37 23.2 8.1 5.0
10| & 8:35 23.2 8.2 2.0
1|t
12| B
13| A 8:41 23.3 1.1 2.6
14| X 8:37 23.0 40 13 8.0 <0.03 1.1 2.1 35.8
15| 7k 8:38 22.8 8.0 1.5
16| K 8:37 22.9 1.8 1.5
17| & 8:37 23.1 1.1 1.6
18| +
19| 8
201 B 8:38 23.5 8.2 1.0
21| & 8:36 23.8 40 69 8.4 <0.03 8.1 1.1 36.8
22| K 8:49 24.7 8.3 1.1
23| &
24| &
25|+
26| A
271 B 8:38 24. 6 8.0 1.1
28| & 8:42 24.5 37 65 8.1 <0.03 8.0 1.0 33.3
29| /K 8:43 24. 6 1.6 1.3
30| K 8:47 24.4 1.6 1.1
31| & 8:38 24.8 1.5 1.3
E OB — 23.17 39 69 8.3 <0.03 8.1 1.6 35.3
B — 24.8 40 13 8.6 <0.03 8.7 5.0 36.8
= & — 22.8 37 65 8.0 <0.03 1.5 1.0 33.3
i =




KEMHEERIR OKERES)

ERFKE (TERK) SH2%E8A
® K % B % w7
K B B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
1]t
2|\m
3| A 8:39 26.3 8.2 0.8
4 1x]| 14:16 27.8 39 67 8.3 <0.03 8.2 0.8 34.8
5|k 8:39 26.6 8.0 0.9
6 | K 8:42 26.5 1.6 1.1
1% 8:38 27.8 7.9 0.8
8|+
9(m
10| A
1| X 8:49 28.8 38 12 8.3 <0.03 1.5 0.7 35.0
12| %
13| K
14| &
15| +
16| B
17| A 8:40 27.8 7.1 1.1
18| X 8:38 29.2 39 1 8.6 <0.03 1.6 0.9 35.2
19| 7k 8:38 29.2 1.5 1.4
20| K 8:36 29.4 1.4 0.9
AR 8:38 29.4 1.1 0.8
22|+
23| B
241 B 8:41 29.2 1.5 0.8
25| & 8:38 29.3 38 66 8.4 <0.03 1.5 0.7 34.5
26| /K 8:39 29.3 1.5 0.9
271 K 8:36 29.2 1.6 0.8
28| & 8:40 29.4 1.6 0.6
29[+
K =]
311 B 8:39 29.8 1.5 0.6
E OB — 28.5 39 69 8.4 <0.03 7.6 0.9 34.9
B — 29.8 39 12 8.6 <0.03 8.2 1.4 35.2
= & — 26.3 38 66 8.3 <0.03 7.1 0.6 34.5
i =




KEMHEERIR OKERES)

ERFKE (TERK) SH2E9A8
® K % B % w7
X OB B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
11K 8:38 29.9 38 66 8.4 <0.03 1.6 0.7 34.6
2 |k 8:37 29.4 1.6 0.8
3 (XK 8:41 28.9 1.5 0.8
4| & 8:38 28.9 1.6 0.8
5|+
6|8
11A 8:38 26.6 1.2 1.1
8 |,k 8:38 27.5 38 13 8.4 <0.03 1.5 0.6 34.1
9 [k 8:40 27.5 1.5 0.7
10| K 8:36 27.2 1.5 0.7
11| £ 8:40 27.2 1.5 0.9
12|+
13| B
14| A 8:39 26.6 1.5 1.1
15| X 8:37 26.0 39 13 8.7 <0.03 1.5 1.4 35.5
16| 7k 8:36 26.5 1.5 0.8
17| K 8:38 26.5 1.3 1.0
18| & 8:56 26.3 1.3 1.0
19| +
20| B
21| A
22| k&
23] K 8:38 24.9 40 69 9.0 <0.03 1.1 0.9 35.8
24| K 8:38 25. . 0
25| & 8:45 25.3 1.5
26| +
27| B
28| B 8:43 23.4 1.5 1.9
29| & 8:42 23.5 39 66 8.5 <0.03 1.5 0.9 35.5
30| /& 8:37 23.7 4 0
E OB — 26.6 39 69 8.6 <0.03 1.5 0.9 35.1
B — 29.9 40 13 9.0 <0.03 1.1 1.9 35.8
= & — 23.4 38 66 8.4 <0.03 1.2 0.6 34.1
i =




KEMHEERIR OKERES)

ERFKE (TERK) “F24108
® K % B % w7
X OB B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
1R 8:38 23.6 1.5 0.7
2| & 8:38 23.2 1.3 1.0
3|t
4(m
5(1A 8:38 23.2 1.3 0.8
6 | X 8:39 22.2 41 13 9.0 <0.03 1.4 1.6 37.2
71K 8:38 22.0 1.4 1.0
8 [XK 8:37 21.9 1.4 0.9
9| 8:39 21.2 1.3 1.1
10| +
1| e
12| A 8:38 21.5 1.3 1.0
13| K 8:39 22.0 38 1 8.4 <0.03 1.4 1.0 35.2
14| 7k 8:38 21.6 1.4 1.3
15| K 8:36 21.3 1.1 1.6
16| & 8:37 20.8 1.6 1.7
17| £
18| B
19| A 8:38 19.6 1.5 0.9
20| & 8:40 19.3 38 12 8.5 <0.03 1.6 1.0 33.9
21] K 8:37 19.5 1.8 1.2
22| K 8:36 19.6 1.1 1.6
23| & 8:41 19.3 1.5 1.9
24| +
25| 8
26| B 8:37 18.3 1.6 1.2
27 k| 11:47 18.3 39 12 8.6 <0.03 1.8 1.1 35.5
28] /K 8:35 18.4 8.0 1.1
29| K 8:38 18.1 8.0 1.2
30| % 8:38 17.17 7.9 1.6
31|+
E OB — 20.6 39 12 8.6 <0.03 7.6 1.2 35.5
B — 23.6 41 13 9.0 <0.03 8.0 1.9 37.2
= & — 17.7 38 71 8.4 <0.03 7.3 0.7 33.9
i =




KEMHEERIR OKERES)

ERFKE (TERK) SI2%E118
® K % B % w7
X OB B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
118
2 A 8:37 17.4 7.9 1.0
3|k
4 |k 8:38 16. 1 41 68 9.0 <0.03 1.5 3.1 36.5
5K 8:40 16.3 ) 1.4
6| 8:37 16.3 6 1.0
7|t
8|m
9(A 8:37 16.2 1.4 1.0
10| X 8:38 15.6 39 62 8.8 <0.03 1.5 1.0 34.8
11| 7k 8:37 16. 1 1.5 0.9
12| K 8:41 14.9 1.5 1.2
13| & 8:38 15.2 1.5 0.5
14| +
15| B
16| A 8:37 15.6 1.5 0.7
17| X 8:38 15.6 40 67 9.6 <0.03 1.6 0.8 35.4
18| 7k 8:39 15.7 1.5 0.8
19| K 8:38 15.9 1.5 0.8
20| & 8:41 16.2 1.4 1.0
21| +
22| 8
23| A
24|k 8:37 14.8 40 65 9.1 <0.03 1.4 1.0 34.8
251 K 8:M 14.6 1.4 0.8
26| K 8:41 14.6 1.4 0.7
27| & 8:37 14.6 1.3 0.5
28|+
29| B
301 B 8:39 14.0 1.4 0.7
E OB — 15.6 40 66 9.1 <0.03 1.5 1.0 35.4
B — 17.4 41 68 9.6 <0.03 7.9 3.1 36.5
= & — 14.0 39 62 8.8 <0.03 7.3 0.5 34.8
i =




KEMHEERIR OKERES)

ERFKE (TERK) 245128
® K % B % w7
K B B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
11K 8:40 13.6 38 64 12 <0.03 1.4 0.6 32.2
2 |k 8:39 13.5 1.4 0.7
3 (XK 8:37 13.7 1.4 0.6
4| & 8:37 13.1 1.4 1.0
5|+
6|8
11A 8:38 12.9 1.5 0.4
8 |,k 8:37 13.0 39 66 8.8 <0.03 1.5 0.5 34.5
9 [k 8:40 12.8 1.4 0.5
10| K 8:37 12.5 1.4 0.5
11| £ 8:40 12.7 1.4 0.4
12|+
13| B
14| A 8:37 12.3 1.4 0.5
15| X 8:38 11.3 38 66 8.8 <0.03 1.4 0.9 34.6
16| 7k 8:38 10.0 1.5 0.9
17| K 8:40 9.0 1.5 1.6
18| & 8:39 9.8 1.5 0.9
19| +
208
211 B 8:50 9.7 1.4 0.6
22| & 8:37 9.8 39 66 9.2 <0.03 1.4 0.5 35.1
23] K 8:39 10.0 1.4 0.4
24| K 8:37 9.8 1.4 0.5
25| & 8:42 10.0 1.4 0.3
26| +
27{ B
28| B 8:39 9.9 1.3 0.3
29| k&
30| 7k
S
E OB — 11.5 39 66 9.7 <0.03 1.4 0.6 34.1
B — 13.7 39 66 12 <0.03 1.5 1.6 35.1
= & — 9.0 38 64 8.8 <0.03 7.3 0.3 32.2
i =




KEMHEERIR OKERES)

ERFKE (TERK) SH3EIAR
® K % B % w7
X OB B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
11
2|+
3|
4R 8:42 1.9 1.4 1.8
5k 8:37 8.5 40 63 9.2 <0.03 1.4 0.7 35.5
6 | 7k 8:39 8.8 1.3 0.4
71X 8:38 8.6 1.3 0.8
8 |& 9:14 6.9 1.5 2.4
9|+
10| 8
111 A
12| X 8:41 1.6 39 66 9.1 <0.03 1.2 0.5 35.0
13| 7k 8:38 1.6 1.2 0.4
14| K 8:39 1.8 7.1 0.4
15| & 8:43 8.1 7.1 0.3
16| +
17| 8
18| A 8:38 1.8 1.2 0.8
19| X 8:38 1.4 39 1 9.2 <0.03 1.3 0.9 35.6
20] /K 8:38 6.7 1.5 1.3
21| K 8:38 1.2 1.4 0.7
22| & 8:41 8.0 1.2 0.5
23|+
24| B
25| B 8:40 8.3 1.4 1.4
26| X 8:38 8.1 44 11 9.8 <0.03 1.4 1.2 39.3
271 K 8:40 8.8 1.2 0.5
28| K 8:45 8.7 1.5 1.3
29| & 8:41 8.0 1.5 3.3
30(+
31| A
E OB — 7.9 41 69 9.3 <0.03 7.3 1.0 36.4
B — 8.8 44 11 9.8 <0.03 1.5 3.3 39.3
= & — 6.7 39 63 9.1 <0.03 7.1 0.3 35.0
i =




KEMHEERIR OKERES)

ERFKE (TERK) SH3E2R
® K % B % w7
X OB B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
118 8:40 1.4 1.4 1.3
2 |k 8:38 8.0 38 64 9.6 <0.03 1.4 0.8
3|k 8:38 1.1 1.4 2.0
4 K 8:37 1.4 1.3 0.9
5% 8:38 1.3 1.4 1.4
6|t
718
8| A 8:39 8.1 1.4 0.4
9 [,k 8:38 1.4 41 69 10 <0.03 1.5 1.4 36.7
10| 7k 8:42 .5 5 1.0
ES
12| & 8:38 8.2 1.5 0.8
13| +
14| B
15| A 8:39 8.8 1.4 0.6
16| X 8:38 8.9 40 87 13 0.06 1.2 9.9 34.7
17| 7k 8:38 8.2 1.4 12
18| K 8:38 1.2 1.5 5.1
19| & 8:40 1.1 1.5 4.2
20|+
21 B
221 B 8:39 8.4 1.4 0.7
23|k
241 K 8:37 8.2 43 79 10 <0.03 1.6 1.4 37.17
25| K 8:37 1.7 1.1
26| & 8:39 8.1 1.4 1.2
27| +
28| A
E OB — 7.9 41 15 11 <0.03 1.4 2.6 36.4
B — 8.9 43 87 13 0.06 7.6 12 37.17
= & — 7.1 38 64 9.6 <0.03 1.2 0.4 34.7
i =




KEMHEERIR OKERES)

ERFKE (TERK) SH3EIAR
® K % B % w7
X OB B OE p HiE A )::4
T maEY S R hURE
Bl &% °Cc mg/L mg/L mg/L mg/L E mg/L
118 8:37 8.0 1.4 1.6
2 |k 8:38 9.0 43 1 9.6 0.04 1.4 2.0 37.5
3|k 8:37 1.9 1.5 2.8
4 K 8:38 1.9 1.4 1.2
5% 8:42 8.6 1.4 1.9
6|t
718
8| A 8:38 8.8 1.4 3.0
9 [,k 8:38 8.6 41 64 9.2 0.03 1.4 3.1 35.5
10| 7k 8:37 9.2 1.5 2.8
1| K 8:51 8.6 1.4 1.9
12| & 8:38 9.1 1.6 2.4
13| +
14| B
15| A 8:36 9.1 1.5 1.5
16| X 8:40 9.5 40 63 9.4 <0.03 1.6 1.4 36.3
17| 7k 8:39 9.6 1.6 1.4
18| K 8:36 9.2 1.5 1.8
19| & 8:39 9.4 1.5 1.2
20|+
21 B
221 B 8:37 10.4 1.5 2.5
23| & 8:38 9.8 41 69 9.3 <0.03 1.5 1.7 35.7
241 K 8:38 9.7 1.4 1.2
25| K 8:38 10.0 1.3 1.4
26| & 8:41 9.9 1.4 1.3
27| +
28| A
291 B 8:37 10.7 1.4 1.1
30| Xk 8:42 11.3 40 65 9.2 <0.03 1.5 1.1 34.9
31] K 8:36 11.6 7.6 0.9
E OB — 9.4 41 66 9.3 <0.03 1.5 1.8 36.0
B — 11.6 43 1A 9.6 0.04 7.6 3.1 37.5
= & — 7.9 40 63 9.2 <0.03 7.3 0.9 34.9
i =




